The Algebra Problem

We are given an algebraic system in which there is only one binary operator(, and the first n English letters as operands. The following table gives the results of applying the operator on two operands. The entry in i-th row and j-th column indicates the result of apply ( on the i-th and j-th English letters, i.e., the result of a ( b is c, and b ( c is b.
	(
	a
	b
	c

	a
	a
	c
	c

	b
	a
	a
	b

	c
	c
	c
	c



Now given a string of English letters, we want to determine if there is an evaluation order so that the string s can be evaluated to any English letters. For example, given the string bbba, then ((b(b) (b)(a = (a(b)(a = c(a = c and (b( (b(b))(a = (b(a)(a = a(a =a，and there is no way the sting can be evaluated into b, so your program must output 1 0 1.

Input
The first line has a number n, which indicates the number of English letters used in this algebra. The value of n is between 1 and 26

The second line has the input string s, whose length is no more than 30.
The following n lines are the n rows of the results from the binary operator ( 
Output
A single line of n numbers that the i-th number indicating whether the given string can be evaluated into the i-th English letter. A 1 indicates yes and a 0 indicates no.
Input example
3

bbba

acc

aab

ccc

Output example
1 0 1
Vocabulary


1. algebra

2. evaluation 
3. operator
4. operand

5. associative

Questions


1. Does the input string appear the table?

2. How many numbers are expected as output?

3. Is the operator ( associative?

4. What is the limit on the string length?

5. In the output how should we specify whether a particular English letter can be computed?

6. What does the input n mean?

7. Is there any specification in the problem saying that what English letters will be used in the algebraic system?


8. Is it possible to have a string who length is smaller than n? 































